POPULATION PRACTICE QUESTION

	
	Country A
	Country B
	Country C

	Present

Population
	890,220
	327,564
	639,711

	Annual 
Births
	9,866
	4,920
	27,642

	Annual
Deaths
	8,722
	3,112
	7,293



	Annual 
Immigrants
	212
	1,280
	1,450

	Annual 
Emigrants
	2,670
	312
	2,076


a) What is the annual population growth rate and doubling time for each of the above countries?

b) Please describe what kind of economy each country is likely to have and what kind of agricultural methods that they probably practice.

c) Please draw simplified age structure diagrams showing the probable distribution by age group for each of the three countries.

d) By looking at these age structure diagrams, what are some of the future problems that each of these three countries might be facing.

